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QUESTION 1

What is the output of the following command sequence? 

for token in a b c; do 

echo -n "$token "; 

done 

A. anbncn 

B. a b c 

C. "a " "b " "c " 

D. token token token 

E. abc 

Correct Answer: B 

 

QUESTION 2

After issuing: 

function myfunction { echo $1 $2 ; } 

in Bash, which output does: 

myfunction A B C 

Produce? 

A. A B 

B. A B C 

C. A C 

D. B C 

E. C B A 

Correct Answer: A 

 

QUESTION 3

How is a display manager started? 

A. It is started by a user using the command startx. 
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B. It is started like any other system service by the init system. 

C. It is started by inetd when a remote hosts connects to the X11 port. 

D. It is started automatically when a X11 user logs in to the system console. 

Correct Answer: B 

 

QUESTION 4

Which of the following statements is correct regarding the command foo 1> bar? 

A. The stdout from the command foo is appended to the file bar. 

B. The stdout from the command foo overwrites the file bar. 

C. The commandfoo receives its stdin from the file bar. 

D. The command foo receives its stdin from the stdout of the command bar. 

E. The stderr from the command foo is saved to the file bar. 

Correct Answer: B 

 

QUESTION 5

Each entry in a crontab must end with what character? 

A. Tab 

B. Space 

C. Backslash 

D. Newline 

Correct Answer: D 
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